Name: Date:

Cherries
14 pence
per
100 grams

Bananas
13 pence

Kiwi Fruit
14 pence
each

Strawberries
24 pence per
200 grams

Pineapple

45
perice 27 pence

each

\/ou have been asked to buy some fruit from the super'mar'ke‘r
Work out how much it would cost you to buy....... :

......................................................................................................................................................................................................................................................

3 bananas = pence
4 apples = pence
3 kiwi fruit = pence
1 pineapple and 2 apples = pence
200 grams of strawberries = pence
4 bananas and 300 grams of cherries = pence
1 watermelon, 1 apple and 2 kiwi fruit = pence

You have been given 75 pence to buy some fruit. |
Work out how much the fruit will cost, and how much change you should get back

2 kiwi fruit = _____ pence. Change from 75 pence = pence
2 pineapples and 2 apples - pence. Change from 75 pence - pence
2 apples, 3 bananas and 1 kiwi fruit = pence. Change from 75 pence = pence
300 grams of cherries and 200 grams of strawberries = pence. Change from 75 pence = ______ pence.
3 apples, 1 banana and 1 pineapple = pence. Change from 75 pence= _______ pence
100 grams of strawberries and 1 apple = pence. Change from 75 pence=_______pence
50 grams of cherries and 350 grams of strawberries = pence.

Change from 75 pence = pence 7




